SHER=

— SER=ERH: Tl
=\ HRAUES

I R E (556, TERGEARSLIGH RE ISR, SRR ), e
LAEENTFRET), el A DG TR 58 B AT 25
FORIE T ARk 2 -

1.7 A S A SO T R 5 e FH v

2.5 2 G ARRE I i) 2% 7 725

3.4 FH 4 A SR B A B2 R ZH 2
=. E%. LWHE

1. Bkl o & P 2 I %

2. L AHRER %

3. W IEHESH LIS
g, FEMBFREER

FFESE | 2R X X
7= 47 W | wEtE | % | Fw | ow | BF
N . PR R
M x
SRR 2 1, 448.00 g i
K AT 5 982.00 3 100% 5473 G
o N G 4 10, 000.00 RUT =
o N G 4 7, 500.00 RUT =
SAHAFEH AL 1 1, 026.00 Rt =
ARG 1 2, 168.00 R 4F =
&t 17 81, 000.00 3 100%




